Calcular Porcientos (J)

Calcule el porciento o valor que se pide.

. ¢Qué porciento de 8.680 € es 2.

8.246 €7

. (Qué porciento de 640 € es 32 4

€7

. ¢(Qué porciento de 1.904 € es 6.

1.428 €7

. ¢Qué porciento de 6.460 € es 8.

5.491 €7

. (Qué porciento de 1.640 € es  10.

492 €7

;Qué porciento de 4.450 € es
3.115 €?

;Qué porciento de 3.100 € es
2.790 €7

;Qué porciento de 3.230 € es
2.261 €7

;Qué porciento de 4.342 € es
2.171 €7

;Qué porciento de 630 € es
567 €?
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Calcular Porcientos (J) Respuestas

Calcule el porciento o valor que se pide.

. ¢Qué porciento de 8.680 € es
8.246 €7
95%

. ¢Qué porciento de 640 € es 32
€7
5%

. ¢Qué porciento de 1.904 € es
1.428 €7
75%

. ¢Qué porciento de 6.460 € es
5.491 €7
85%

. ¢Qué porciento de 1.640 € es
492 €7
30%

10.

;Qué porciento de 4.450 € es
3.115 €?
70%

;Qué porciento de 3.100 € es
2.790 €7
90%

;Qué porciento de 3.230 € es
2.261 €7
70%

;Qué porciento de 4.342 € es
2.171 €7
50%

;Qué porciento de 630 € es
567 €?
90%
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